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• 초기화
• 𝜋 = 𝑆,𝑆,−

• 반복(1)

• 정책평가
• 𝑣𝜋 𝐶 = 𝑟 𝐶,𝑆 +0.8σ𝑠′𝑃 𝑠′ 𝐶,𝑆 𝑣𝜋 𝑠′

→𝑣𝜋 𝐶 = 1+0.8(1×𝑣𝜋 𝐶 )→ 𝑣𝜋 𝐶 = 5
• 𝑣𝜋 𝑊 =𝑟 𝑊,𝑆 +0.8σ𝑠′𝑃 𝑠′ 𝑊,𝑆 𝑣𝜋 𝑠′

→𝑣𝜋 𝑊 =1+0.8(0.5𝑣𝜋 𝐶 +0.5𝑣𝜋 𝑊 )→𝑣𝜋 𝑊 =5
• 𝑣𝜋 𝑂 = 𝑟 𝑂,− +0.8σ𝑠′𝑃 𝑠′ 𝑂,− 𝑣𝜋 𝑠′

→𝑣𝜋 𝑂 = 0+0.8(1×𝑣𝜋 𝑂 )→ 𝑣𝜋 𝑂 = 0
• 정책평가

• 𝜋′ 𝐶 = 𝑎𝑟𝑔max
𝑎
{𝑟 𝐶,𝑎 +𝛾σ𝑠′𝑃 𝑠′ 𝐶,𝑎 𝑣𝜋 𝑠′ }

= 𝑎𝑟𝑔𝑚𝑎𝑥{1+0.8×𝑣𝜋 𝐶 ,2+0.8×(0.5𝑣𝜋 𝐶 +0.5𝑣𝜋 𝑊 )}
= 𝑎𝑟𝑔𝑚𝑎𝑥{5,6}=𝐹

• 𝜋′ 𝑊 = 𝑎𝑟𝑔max
𝑎
{𝑟 𝑊,𝑎 +𝛾σ𝑠′𝑃 𝑠′ 𝑊,𝑎 𝑣𝜋 𝑠′ }

= 𝑎𝑟𝑔𝑚𝑎𝑥{1+0.8× 0.5𝑣𝜋 𝐶 +0.5𝑣𝜋 𝑊 ,−10+0.8×𝑣𝜋 𝑂 }

= 𝑎𝑟𝑔𝑚𝑎𝑥{5,−10}=𝑆

• 𝜋′ 𝑂 =−
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• 반복(2) 𝜋 = 𝐹,𝑆,−
• 정책평가

• 𝑣𝜋 𝐶 = 𝑟 𝐶,𝐹 +0.8σ𝑠′𝑃 𝑠′ 𝐶,𝐹 𝑣𝜋 𝑠′

→𝑣𝜋 𝐶 = 2+0.8(0.5𝑣𝜋 𝐶 +0.5𝑣𝜋 𝑊 )→𝑣𝜋 𝐶 = 8
• 𝑣𝜋 𝑊 =𝑟 𝑊,𝑆 +0.8σ𝑠′𝑃 𝑠′ 𝑊,𝑆 𝑣𝜋 𝑠′

→𝑣𝜋 𝑊 =1+0.8(0.5𝑣𝜋 𝐶 +0.5𝑣𝜋 𝑊 )→𝑣𝜋 𝑊 =7
• 𝑣𝜋 𝑂 = 𝑟 𝑂,− +0.8σ𝑠′𝑃 𝑠′ 𝑂,− 𝑣𝜋 𝑠′

→𝑣𝜋 𝑂 = 0+0.8(1×𝑣𝜋 𝑂 )→ 𝑣𝜋 𝑂 = 0
• 정책평가

• 𝜋′ 𝐶 = 𝑎𝑟𝑔max
𝑎
{𝑟 𝐶,𝑎 +𝛾σ𝑠′𝑃 𝑠′ 𝐶,𝑎 𝑣𝜋 𝑠′ }

= 𝑎𝑟𝑔𝑚𝑎𝑥{1+0.8×𝑣𝜋 𝐶 ,2+0.8×(0.5𝑣𝜋 𝐶 +0.5𝑣𝜋 𝑊 )}
= 𝑎𝑟𝑔𝑚𝑎𝑥{7.4,8}=𝐹

• 𝜋′ 𝑊 = 𝑎𝑟𝑔max
𝑎
{𝑟 𝑊,𝑎 +𝛾σ𝑠′𝑃 𝑠′ 𝑊,𝑎 𝑣𝜋 𝑠′ }

= 𝑎𝑟𝑔𝑚𝑎𝑥{1+0.8× 0.5𝑣𝜋 𝐶 +0.5𝑣𝜋 𝑊 ,−10+0.8×𝑣𝜋 𝑂 }

= 𝑎𝑟𝑔𝑚𝑎𝑥{7,−10}=𝑆

• 𝜋′ 𝑂 =−

𝜋 = π′


